IHSAA GOLF TOURNAMENT - ELECTRONIC SCORESHEET  [BOX 1] Teams Scoring Summary [BOX 2]
Date: 9/15/2012 Boys: Place School Score
Host School: Anderson High School Girls: X 1 Noblesville 295
Course: Grandview Golf Course Sectonal: X 2 Hamilton Southeastern 306
City: Anderson Regional: T 3 Fishers 340
T 4 Pendleton Heights 353
5 Hamilton Heights 356
Overall Individual Scoring Summary [BOX 3] 6 Lapel 363
Place Name School Score 7 Anderson 392
1 Haley Kluth Noblesville 71 8 Alexandria 409 PURE SPIRIT. PURE SPORT.
2 Morgan Nadaline Anderson 72 9 Elwood 486
3 Heather Hayes i Noblesville 73 10
4 Erica Vonitter Noblesville 73 11
5 Katherine Leighty Hamilton Southeastern 75 12
Indicate with double asterisk (**) when playoff determines winner. 13
14
Individuals Advancing Without A Team Summary [BOX 4] 15
Place Name School Score 16
1 Morgan Nadaline Anderson 72 17
2 Emily Tilton Pendleton Heights 78 18
3 Erin Scully Hamilton Heights 78 Indicate with asterisk (*) when fifth player's score
determines team's place.

Team

Hole #| 1 23| 4|56 7|8 9 [ Out | 20| 11| 12| 13| 14| 15 16 | 17 | 18 In | Total Score
School Name Player Name Par 5 3 4 4 4 4 3 4 4 35 4 4 4 4 5 5 4 3 5 38 73
Alexandria Sidney Bassett 1 5 4 5 4 6 6 4 6 5 45 6 6 5 5 6 6 4 4 5 47 92
Maggie Phelps 2 9 6] 5 7 6 5| 4 8 7 57 5 5| 4 6 6] 100 5] 5 5 51 108
Erica Phelps 3 5 8 6 7 5 6] 5 5 5 52 5 6 6] 8 7 6 6| 4 7 55| 107
Mackenzie Johns 4 71 4 5 5 7 5 7 6 6 52 5/ 4 6] 5 6 7 7 5 5 501 102

Liberty Kyle 5 7 7 4 5 8 7 5 6] 10 59 5 6 6 5 8 7 4 5 6 52| 111 409
Anderson Morgan Nadaline 1 6 3 4 4 3 4 3 4 5 36 4 4 3 3 5 5 4 4 4 36 72
Morgan Wiley 2 5 51 5 5 4 5] 5 4 5 43 5] 4 4 5 6 7 5| 4 7 47 90
Kylie Porter 3 111 4 5 6 6 51 51 4 6 52 5 8 7 5 7 7 7 5 8 59l 111
Ashley Knight 4 9 6] 10 5 7 51 5 8 7 62 8 6 6 4 7 8 6 4 8 571 119

Savannah Woods 5 10 5 6 8 7 7 3 7 8 61] 10 7 6 6 8 8 7 6 8 66| 127 392
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